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Note: There are THREE scetions in this paper i.c. AB&C. Aftempt Section-A and return it to the Superintendent
‘within the given time. No marks will be awarded for cufting, erasing and mu-wrltm[g

l‘ime' 20mmutc e SectioneA : L Marks: 18

QNo.V Sclect the coutcl oplion and shade (A, N o D) in the givm hubblc answer shcel

Marl{s_;_ s

i. If @ is the cubic root of unity, then o™=,

A1+ B--l-w  Cw Do

s 4, b, and ¢ are continued prdporlion, i.e. % = -é ,then
: : p » _
A-ab = ¢ B- ab - be C-ab=be ' . macsy

ili. Hxuyandy =27 whenx =3, Findy, whenx = 11.

®-99 B- 27 NV : D- 88
iV-. + 2 . ,
B B ____Tlraction,
+2x 4+ 2 ’
A- Proper irrational B- Proper rational C- Irrational @ lmproper rational
v, Theset {0,1,2,3, ....00 §is a setof |
A- Natugal nu:hbc_:rs - B Prime uuinburs _C- Integers - @ Whole:numbers

vio  IPR={(a,2),(6,3), (¢, D}, then DomR=_ 0 .. A
A-{1,2) ' ® {s,0,c) B o A R I T . D- {1 ¢} -

Vil The mwost frequent number of a set of data is called . of a data.-
A- Mean B- Median - @ Mode ) . D- Range
vili. In a set of data 63, 65, h(), 67, 69, Median is _ . ‘ )
A-03 ®-06 C-67 . D- 69
X, -0 - radians.
x x : 2 3n
A — B- — —_ : D- —
... - 6 .3 R 4
A l--Cos?0= - ; Co , :
A-Sect) @ Sin’0 C- Cosw D- tan:(}
~xi. Aline sq,mcnt lmvmg both endd poiuts on a urclc and nol passmg through the ccntrc is called
& Chord B- Sccant _ C-Diameter D- Radius
it A line whiclt is perpendicular t w radial segment of & circle at its outer end is called ]
A-Sccant & Tangent . C- Chord ' D- Diameter
xiil. The angle in a wajor seginent of 4 cirele is o
A~ Less than 45° ® Less than 90° C- Between 90° and 135° D- Greater than 135°
Kiv. If %%+ x ~ 1 =3, then the valuc of (1 ~ x - x*) is cqual to . )
A- 2 ‘ B-++] @43 : D- 3
XV. I diseriminant of a quadratic equation is zero, then the root will be

O Rational and cqual  B- Lrralional and equal - C- Rational and unequal D- lrrational and unequal
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Note: Time aflowed 2:40 hours

Q2:

ii.
iii.

v,

vi,
vii.
vili,

X,

Xi.

- Xil.

Note:
Q3.
Q4.

Q5.
Q0.

bL(.ll()N n S Marks: 36

Answu' any NINE parts, K .u,h part carics r-qu'u marks,
2 1
Sulvc —3-- TRy by Qllddl-llu. formula,

bolw..f‘&) 4 =2 +3,

For what wlm. uf K, the :uot» ufth-.. Lquauun lucz If.'Zx +] = O are rcal.

._'Lvalualc, (1+ Jw 4 w?) (I tw-2w 3.

Show that -1 and 2 are roots of the equation x*— 5x* + 3x% + 7x - 2 = 0. Use synihetic division to
find other roots,

Wyax, whenx =4, y=2 then find

(i) y when x =0 (i) x, wheny=135 g 7
010225 : x are in continued proportion, I'm'c'f'- lhé value of x,

Lixpress 2‘3-1:5—1:——(3 as suw of potynomial and proper zanonal fraction.

IEA = (3,4, 51, 1= {5, 6.7 b and C = (4,9, ld}, then show that (AUB)UC = AUBUC)
I0x={1,2,3,4} and y = {5,‘0,7,8}, then write:

(i) i Tunction from x to y

(i)} aonc-one function from x to y

Convert 39%4%' 55" (0 dccﬁnul form.

Show that Cos2) - Sin?) = 2Cos0 - 1,

SECTION-C Marks; 24
Altempt any ll!lll E of the following questions. All questions carr ¥y equal marks.
I two chonls ol a circle are congruent then they will be cquinlis.tnul from the centie,

ITa line is drawn pupuldu,ular 1o a mdml bL.me,nl of a cirele at its outer end point, itis tangent W
the cirele at that point. - S

Laual chords of a cirele subtend equal angles ot the centre,
Circumscribe a square about a circle of radius Sem.
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